1. oh& Iel4 PA, PB €0 o Aot} PO = 13em, OA = 5em
o o, APBO 9] Ed] Ao|E Fatoizt.

A

@ 12cm @ 17cm ® 18cm @ 28cm @34cm

AP = V132 —-52 = 12,AP = BP,OA = OB °o|2&
(AHFEAPBOSI =8 9] Zol) _ AP+ BP L OA 4+ OB = 2x
12+2x5 =34 (cm)




2.

e 2389 ¥ O°llA x o] dolE F5tofzt.

BF=BD=2°22 CE=CF=x-2
AE=ADOIBER2 10=7+(x-2) ~x=5




the 2o A x &y o] T2 FohH?
V- U Y
7Cmm /j ?K
j 60"' . 50° Zicm
0 0

D 10 @ 12 3 16 @ 20 @22

60:7=120:x

Lx=14

30:2=120:y

Ly=8

L x+y=14+48 =22 o]t}




th& 1804 PA, PB &= o] Aol
H A, B+ F-oltt. /PAB =60° &

=
o, AABP 9] Ho|?

B 24v2cm?

@D 36V3cm? @ 24cm?

@12 V3 cem? ® 12cm?

B

PA =PBo|EZ2 aA
60° 3 ol s E=

so]= \/Tg X (4V3)? = 12V3(cem?) o]t}

vs}
av)
rlr
s
ol
¢
juf
J
(@)




042 1204 5.0ptAB = 220 2

C
°]7F 26 )1 9] Lot AB =20
9w, AABC ] Hol? A& DB
Te--20-7T
® 10 @ 20V2 @20 @ 25 ® 245

~&B

90154 09 A C, 4 DE AA.

AAOD 9|4 OD = VAO - AD2 = V262 — 102 = 24
~CD=0C-0D=26-24=2

wehA Yol % x 20 x 2 = 20 °|t}.




o= 1 olA oABCD °f W55

~-l4em - _

20 9 Ed9 Lol Fotolet,

A= D
0
B ~-7em” c
> E: cm
2
> yE —87rcm
Y2 &< reme} SHA
(4-r+7-r?2=7*+(2r)?
(21 - 2r)2 = 49 + 472
441 — 84r + 4r% = 49 + 4r%284r = 392
392 14(cm)
84 3
- 14 28
(¥ =2l) = — = —n(cm)
3 3
i 14cm\\ D
W\ 7em-, SN
14\—( O\
O .
7_ri3 r70;”—0




